HEBUERRS

(B) FH28%F 4R 18 (B) TH29%F 3A31H

HEBUEN THLT7ELES

EXEHEHES

(B M)
#BE®B LEFREWN ATEERE (B) 55 (A) - (B)
N EREZFINE
RESZHINE
U B TIEE RN 2,238 2,434 A196
#% |BEERLY—EREEENE 46, 246 44, 628 1,618
+ ZOiDEEINE 1,209 50 1,159
[ BRERESMSINE 600 440 160
£ Z DD IR 77 76 1
= H—E R FERINEE (1) 50, 370 47,628 2,742
& NCE- 37,627 36, 895 733
3 = 1,130 1,288 A158
1 =%E 3,665 4,119 A454
B P XIEELER 1,312 1,349 A37
D | & |FREABEERE
8| A |[EfEEaE 1,568 1,606 A38
EEMNEEENEISIMEE A1,214 A1,317 103
HURABERE
HURFEESI L EHRA
ZOHMDEH
HS—ERXFBHERH Q) 44,088 43,940 149
H—ERFEHEREELREQ)=(1)-(2) 6, 282 3, 689 2,593
& A&7 REB S IR
o ZmA S E LI 6 6 A0
[ IR A EEE S ST Am 2
E | # |AMEEsssas
z 1% & A il 5 55 5Tl 2%
& B & HMmEEST A4
) Z DD —E REB IR 46 373 A327
5 H+—E ZEB MRS (4) 52 379 A32]
B XIFE
b Eog i ik
D | & |FMIEHTEE
# A |[REHMSETEiE
B EHMEESTENE
Ty —ERXFENER
H—EXFBNERE G) - - -
H—EREEIMERER 6)=4)-(5) 52 379 A32]
REERELE (7)=03)+(6) 6, 333 4,067 2, 266
MR B HEESINE
BB HEFTMEING
RHEEE£EAETEERTHEINE
IR |ElEEEZEEE
# |EEEETAS
HERXSMBASINE
L2 BERPHEBEEEEBEINE
A Z DD HRIURES
1% 45 IR 2R ET (8) - - -
i EASHEALE
» BETE
# ElE EEFTHE - LHiE 96 A96
BEEEER - REEA 1,728 A1,728
E EEWHMNSSEAIEISIMEE (BROD%)
A |EEHNSFEAEISTEEE
KEBK
EERSERASER
EERNHEEEEBREER
ZDMDEFRER
BRERE O - 1,824 A1,824
TR EEE (10)=(8)-(9) - A1,824 1,824
LEEEIEEELE (11)=(7)+(10) 6, 333 2,243 4,090
‘= B & B e B 5a (12) 29,182 27,239 1,943
#4458 LSRR EDEREE 13)=>11)+(2) 35,515 29, 482 6,033
FED EXEM (4 - = =
AR Z D DFEIL S BN EAEE (15) - - -
1 %®m®E§§E§§%® 220 300 A80
b5 REARRM =P
(17)=(13)+(14)+(15)- (16) 3,29 29,182 6113




